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Given below are two statements, one is
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Many Sanskrit works
on music were translated into Persian
during the medieval period.

Reason (R) : The early chisti sufis were
fond of musical assemblies called,
‘sama’.

Select the correct answer from the
codes given below :

Codes :

(a) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(c) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

Which of the following inscriptions gives
the information about two Ashwamedha
Yajnas performed by the King Pushyamitra
Shung ?

(a) Saranath inscription

(b) Besnagar inscription

(c) Ayodhya inscription

(d) Hathigumpha inscription

The term ‘chakla’ has been used in

Medieval Indian History sources. This

was

(a) ldentical to Paragnah

(b) Identical to Sarkar

(c) Territorial unit between Subah
and Paragnah, but not identical to
Sarkar

(d) None of the above

192

O AR

1. fRArw RuTTE | T H wH (A)ésm

aﬁaﬁwm)ww% |

HUA (A) . TeeRTel B T T Ehd H ol

118 7 IR 1 T H e TRl TR |
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T (R) U (A) T AR |
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It & ST R orE @ fed 7
(a) TRATY T
(b) SER W@
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(o) ErefiTreRT o
HESHTER TR % TR Jdl o =ehedl
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(d) Sufeifga & & i3 +ff e
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Place Leadership
(@) Sambhalpur Surender Sahi
~ (b) Ganjam Radhakrishna
Dandsena
(c) Kashmir Gulab Singh
(d) Lucknow Liyagat Ali

T
5

The Maratha claim of revenue for
protection is known by what name ?
(a) Sardesh Mukhi (b) Chauth

(c) Abwab (d) Jamadani

The mosque-the Khayr-ul-manzil
opposite to the Purana Qila in Delhi was
constituted by whom ?

(@) Hamida Banu Begum
(b) Salima Sultan

(c) Jiji Anga

(d) Maham Anaga

Which of the following pairs is NOT
correctly matched ?

Which of the following pairs is NOT
correctly matched ?

State Ruler
(@) Devgiri Shankar Dev
(b) Warangal Ramchandra
Dev
(c) Hoysal Veer Ballal
(d) Madura Veer Pandya

Arrange the following into chronological
order and select the correct answer
from the codes given below :

A. Muhammad Shah

B. Jahandar Shah

C. Alamgir lI
D. Ahmadshah
Codes :

@ A CD B
(b} B: A D C
ey C A B D
(d D B Cc A
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g 5 R st e 5 )

MRS R 7

(a) TEW (b) =Ny
(i) av{ar?:rra]g@ﬁ (d) SHIEHT
. oot 3 gue e % T Sver vy
A AiESTE 1 Fmfor Ree samr o ?
(a) THYeT o ST
(b) wﬂmw
(c) Sftsft afm
(d) HTEH T
ﬁﬁ%@a@ﬁﬁﬁqaﬁgﬁ%ﬁﬁ%?
T g
(a) E9ER G e
(b) TS TETHT FUEEAT
(c) IR NRICRTH
(d) TET INRIET R
ﬁmﬁ«rﬁaag:ﬁﬁﬁwﬁgﬁ%aﬁ%?
TamEa . VI
(a) <afid I
(b) T THe5 3
(c) BEEa ERERNIR
(d) Agu R e
ﬁw%ﬁaaﬁmﬁwa@aﬁﬁq
IR A= A R w2 § T 3w o =
FHifeg |
A. TEETE 3R
B. SEIER I8
C. 3THIR I
D. 3189 ¥I1E
He
Ay A €D B
() B AD C
(c)€ A B D
(@D B Cc A
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10.

gl

12:

13.

14,

Which of the following States of India
has the longest coastline ?

(@) Maharashtra

(b) Andhra Pradesh

(c) Kerala

(d) Gujarat

Which of the following rivers of

. Uttar Pradesh has been declared a

‘Biological Disaster due to environmental

pollution ?
(@) Yamuna (b) Gomati
(c) Sai (d) Tamsa

in which of the following hills the world
famous temple of Lord Venkateshwar
(Tirupati) is located ?

(@) Shevaroy (b) Biligiriranga
(c) Javadhee (d) Malimalla

Rajasthan desert or Thar desert is the
expanse of which of the following ?

(@) Pliocene

(b) Paleocene

(c) Pleistocene and recent deposits
(d) Oligocene

Which of the following rivers of India
does NOT originate from the Western
Ghats ?

(a) Godavari
(c) Kaveri

(b) Tapti/Tapi
(d) Kabam

The development of the concept of
‘Global Village’ is based on

(a) Social development

(b) Political development

(c) Transport and Communication
Development

International organisations

(d)

-4-

10.

11

12

13.

14.

[ »

1 3 FreforRad s o @ fereehl qetan
g Al B ?

(a) ARG

(b) ITFY Y

(c)

(d) Tsd

TR TRy 1 FEfaRad it § s
e SO 3 T Stefieh ST =
AR ? '

(a) I (b) Tl

(c) &% (d) mE

v g e Seevar (ferufar) s A
Srefiad e § fored safem e ?
(a) e (b) feehfitm

(c) el (d) TecHed

ST T ST S et e eI
A fereer faear g ?

(a) ATSTTEH

(b) AfeErE

(c) A Ta Al s

(d) STfFTEE

T ) FrerfaRaa Afedi § s afe=rl ome
3 7l Freperci ® 7

(@) Tirered (b) Qe /ardl

(c) (d) HeH

R T ) TR o T ST &
(a) GRS forshr

(b) TrsHferh forehrdl

(c) Ufae Td TR 1 forhtd

(d) ST TS
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15.

16.

17.

Which of the following countries has the
maximum production of milk per cow ?
(@) Netherlands (b) Great Britain
(c) Denmark (d) India

Which of the following districts of Uttar
Pradesh has the lowest female literacy
rate as per 2011 census ?

(a) Rampur (b) Balrampur

(c) Shrawasti (d) Bahraich

The Sultana, Gulabi and Kali Champa
varieties in different regions of India are
varieties of which of the following major
fruits ?

(@) Custard Apple (b) Orange

(c) Guava (d) Grapes

Which of the following States is the
largest producer of cardamom and
pepper in India ?
(@) Tamil Nadu
(c) Kerala

(b) Goa
(d) Maharashtra

Match List— I and List— Il and select the
correct answer using the codes given
below the list :

List -1 List—1I
States Highest Peak
A. Kerala 1. Dodda Betta
B. Nagaland 2. Nand Devi
C. Uttarakhand 3. Anai Mudi
D. Tamil Nadu 4. Saramati
Codes :
A B C D
(a) 1 3 4 2
(bj 2= 3--4 1
€y 38 4. > 1
(d) 1 2 gk

15.

16.

17.

18.

19.
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Freferfem =it & fred ufs e g
(a) fiwelvgs (b
(c) =9k (d) 9Rd
2011 I SIFIUMT % STHR W T2 &
Ffafaa sHuet & fredl wfve wear
T GT FH R ?

(a) THYX (b) sTERHYX
(c) smert (d) sUE"
TR < foifvret &t & Seqrfee geam, Termsh
ST ket = foreferRaa e et 3 o
Hfrai g ?
(a) IRI® (b) G
(c) e (d) 3R
FefaRaa wsai § $9 samsh wE e
o 1 oo wreT ST R 7
(a) dftreTg (b) T
(c) & (d) HERT
Tt - 1 3R T - 115 e il af
Tl o = o2 T g & v s H =
Fifsg|

T - -1l

T o e e
A ¥ 1. g
B. ATTRIvE 2. F=1eh
C. IS 3. IR R
D. dftreTg 4. GRMfd
%c:

AL B € D
(@) 1 3 4 2
By 2. 3. 4 3
3 4 o 1
@it oo w3 g
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20. Which of the following countries is the
leading producer of lodine in the world ?
(@) Japan (b) U.S.A.
(c) Chile (d) China

21.. According to 2011 census, which of the
following states has the lowest child
sex-ratio both in Rural and Urban areas ?
(a) Uttar Pradesh
(b) Kerala
(c) Haryana
(d) Jammu and Kashmir

22. According to 2011 census, which of the
following states has the largest rural
population ?

(a) Madhya Pradesh
(b) Maharashtra

(c) Punjab

(d) Uttar Pradesh

23. Consider the following events.
1. First reptiles
2. Firstinsects
3. Shelled animals
4. First mammals.

Arrange the above events in
Chronological order of their origin on
the earth and select the correct answer
from the codes given below :

Codes :
(@ 2
(b) 2
(c) 3
d) 2

AN WO =
— - = W
W s~ D

20.

21.

22;

23.

IIII|||||IIIII|I||I|IIlIIIlIIIIIlIIIII_IﬂlIII 2
N

Prfiifad it & -1 faga o STREH
T STTOf) IedTeeh & ¢
(a) S (b) . T IR
(c) Tereft (d) =M

05011 I SFRTUMT & IR, =l
Tt 3§ fret mefior wd wred G & A
Ty fom argoma =gan @ 7

(a) ST I

(b) A

(c) =REmm

(d) S T HHR

0011 1 SFITUT 3 STTER FreferRad T
F  forgehy mefior SEE Tt © ¢
(@) e Y&
(b) HEWIS
(c) USTE
(d) ST
ﬁmmaﬁmﬁw@rﬁmz
1. vEa w9
2. UEAIhIE

3. SHEdT Sid
4, IR T

RS TER SRl )
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28.

29.

30.

24.

25.

26.

IO O

‘Saving energy and other resources for
the future without sacrificing people’s
comfort in the present’ is the definition
of which of the following concepts ?
(@) Economic growth

(b) Economic development

(c) Sustainable development

(d) Human development

World Population Day is observed on
(@ 11 July (b) 8 May
() 5June (d) 16 October

Which of the following fixes the poverty
line in India ?
(a) Central Council of Ministers
(b) Lok Sabha
(c) Rajya Sabha
(d) Planning Commission
(Now Niti Ayog)

Which of the following States ranks first
in India in length of roads ?

(@) Maharashtra

(b) Uttar Pradesh

(c) Madhya Pradesh

(d) Rajasthan

Direct Tax Code in India is related to
which of the following ?

(a) Sales Tax (b) Income Tax
(c) Excise Tax (d) Service Tax

The Headquarters of the ‘Green Peace
International’ is located at

(@) Amsterdam (b) Canberra

(c) Ottawa (d) Nagasaki

ABC Index announced by the
Government of India is associated with
which of the following ?

(@) Agriculture

(b) Communication

(c) Health

(d) Education

25.

26.

27,

28.

29

30.
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ﬁwﬁﬁ'% ?ﬁﬂq W & TRYef Y@ et ety
FATR |
(a) =19 oefived
(E‘) SIEX:E
(c) TsT 94
(d) AT I
(31er fifer s7rm)
FerferRe et § 9 wewt 6 e i
A B I YREH [ R 7
(
b)
(c) TET yewr
(d) TSRYM

WA 8 T8 W e fiefeied 3 frad
TfRa g ?

(a) Tershl ot (b) T H

(c) 3R (d) FaET

i e Sexieer’ % e o @

(@) THeERE (b)) Few

(c) 3erard (d) ArTETERY A
A R 3R Uia ‘T & 39y
Frfofaa § fred afRE 2 7

() P

(b) HER

(c) wWreey

(d) ferem
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31.

32.

33.

34.

35.

36.

37.

i

According to the UN Department
of Economic and Social Affairs
(UN-DESA) what percentage of world’s
total population is currently living in
urban areas ?
(@) 25

(c) 45

(b) 35
(d) 55

Which among the following is the
secondary pollutant ?

(@) Smog

(b) Carbondioxide

(c) Carbon mono-oxide

(d) Flyash

In which of the following ecosystems the
species diversity is relatively higher ?
(@) Deep sea

(b) Tropical rain forest

(c) Coral reefs

(d) Desert

Which of the following is NOT obtained
from insects ?
(a) Silk
(c) Lac

(b) Honey
(d) Pearl

Which of the following represents the
decibel level of rustling of tree leaves
in normal circumstance ?

(@) 10db (b) 20db

(c) 60db (d) 100 db

United Nations Conference on climate
change, COP21 was held in

(@) Moscow (b) Paris

(c) Berlin (d) Tokyo

When was India’s first National Action
Plan on Climate Change released ?
(@) 2000 (b) 2008

(c) 2012 (d) 2015

31.

32.

33.

34.

35.

36.

37.

O O
Tyt g 3 SR T AT T
59T (UN-DESA) o T8 fora 1 et
e S e ST e & |
@ g ?
(a) 25 (b) 35
(c) 45 (d) 55

frferiaa & $ T Jgh & 7

ﬁn%r@aﬁ@qvﬁﬁ@rmaﬂﬁm%?
(a) WH (b) WE&
(c) @rd (d) =t
Srerfifaa 3 s g aRie § ga
Sﬁmméﬁaﬁwuﬁhm

(@) 10db
(c) 60db

(b) 20db
(d) 100db

mmmmﬁwmmﬁ
ST el ehTTad <ht TR off 7

(a) 2000 (b) 2008 H

(c) 20127 (d) 2015#
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38.

39.

40.

41.

42.

43.

Which is the most stable ecosystem ?
(@) Marine (ocean)

- (b) Forest

(c) Mountain
(d) Desert

Incinerators are used for which of the
following ?

(a) Burning wastes

(b) Putting wastes into them

(c) For cutting green trees

(d) For making fertilizers

What is ‘Green House Effect’?

(@) Increase in global temperature

(b) Decrease in global temperature

(c) Increase in sea water temperature

(d) Increase in temperature of rivers
and lakes

Which of the following is the main
component of the natural gas ?

(a) Ethane

(b) Butane

(c) Carbon mono-oxide

(d) Methane

Which pain killer given to cattle is
responsible for near extinction of
vultures in India ?

(a) Ibuprofen

(b) Acetaminophen

(c) Asprin

(d) Diclofenac

Which of the following countries was the
largest emitter of CO, in 2015 ?

(a) China (b) U.S.A.

(¢) India (d) France

38.

39.

40.

41.

42.

43.
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44. Which of the following statements are
true ?
1. Natural disasters cause maximum
damage in developing countries.
2. Bhopal gas tragedy was man-made.
3. India is a disaster free country.
4. Mangroves reduce the impact of
cyclones.

Select the correct answer from the
codes given below :

Codes :
(@) 1,2and 3 (b) 2,3and 4
(c) 1,2and 4 (d) 1,3and 4

Which of the following has the highest
velocity ?

(@) Cosmic rays

(b) Light

(c) Electron

(d) Supersonic wave

45.

46. Graphene is
(@) An alloy of carbon
(b) Nano structure of carbon
(c) Isotope of carbon

(d) None of the above

47. The sound will have highest velocity in
3 (@) Vacuum (b) Air
(c) Water (d) Steel

48. A powerful eye irritant in the smoke is

(a) Ozone

(b) Sulphur dioxide

(c) Carbon dioxide

(d) Peroxyacetyle nitrate

The book ‘A Brief History of Time’ has
been written by whom ?

(a) Stephen Hawking

(b) J.V. Narlikar

(c) C.V.Raman
(d) S.Bose

49.

44, FAdAPI-AFATE R ?

45.

46.

47.

48.

49.

() . oft. Al g

T

1. WeHfcrh SIS Haiiere afet foremmaefiet
a1t & et 7

o, wurel TG ATEd T - o

3. 9d AUET-Th < 3

4. Na TaTdl o1 IHTE FH L B
Hre fer i # @ w9 SW T

%e
(@) 1,293  (b) 2,374
(c) 1,2da4  (d) 1,374

FrafRaa 3§ forgen an fteRm BT ?
(a) TG TRl

(b) ST

(c) FeFH

(d) RTEAfTR T

gt 3 SAial i e A el SHH-a1
SR STST BT & ¢
(a) SISIE]

(b) TEH STZIATHLE
(c) THIeH STEATFRS
(d) SRTETCEIERS TeE

s feell 317 2| ! e frem
etz ? | e

(a) THA R g

(c) ®.f, T EI
(d) TE. 99 g
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51.

52.

53.

54.
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50. Which of the following is the richest

source of Vitamin C ?
(@) Orange (b) Apple
(c) Carrot (d) Amla

Which of the following planets may be
suitable for existence of life ?

(@) Mars (b) Mercury

(¢) Venus (d) Jupitor

Einstein was award Nobel Prize for of
his theories

(@) Theory of relativity

(b) Theory of photo electricity

(c) Theory of specific heats

(d) Theory of Brounian motion

Which of the following energy sources
produces NO atmospheric pollution ?
(@) Nuclear energy

(b) Solar energy

(c) Petroleum energy

(d) Coal energy

The Directive Principles of State Policy
may be-classified in to which of the
following parts for the sake of convenient
study ? ‘

(@) Socialist

(b) Liberal intellectualistic

(c) Gandhian

(d) All of the above

Which of the following was called
as Economic cabinet of India by
Ashok Chandra ?

(@) Planning Commission -

(b) Finance Commission

(c) Central Cabinet

(d) Administrative Reform Commission
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56.

57.

58.

959

60.

61.

Who was the Chief Justice of India when
Public Interest litigation was introduced
in the Indian Judicial system ?

(@) M. Hidayatulllah

(b)  A.M. Ahmedi

(c) P.N.Bhagwati

(d) A.S. Anand

Who is the author of the book “The
Accidental Prime Minister” ?

(a) Rajdeep Sardesai

(b) Karan Thapar

(c) Kuldeep Nayar

(d) Sanjaya Baru

Mention the correct date of the last
meeting of the Constituent Assembly
of India.

(a) 26 Nov. 1949 (b) 5 Dec. 1949
(c) 24 Jan.1950 (d) 25 Jan. 1950

Which of the following CAN NOT be
dissolved but abolished ?

(a) House of People

(b) Council of State

(c) Legislative Assembly

(d) Legislative Council

When did the Government of India
establish the independent Ministry for
“Women and Child Development’ ?

(@) 1985 (b) 1986

e} 1987 (d) 1988

What can be the maximum representation
from the Union Territories to the Lok
Sabha ?

(a) 15

(b) 20

(c): 25

(d) None of the above

56.

5.

58.

59

60.

61.
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(a) ATHEHT

(b) TST T

(c) Taam &

(d) faum gt

T T B ‘R wE A
10 ToaT AT e TG feha T 7
(a) 1985 (b) 1986
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s @1 T g A S Rl Halfeeh
yfafrfiea fora 81 wshaT © 7

(a) 15

(b) 20

(e) 25

(d) ST & VIS /I -




65.

66.

67.

68.

63.

64.

OO

How many teams participated in FIFA
World Cup organised in Russia from
14 June — 15 July 2018 ?
(a) 32 (b) 34
(c). 36 (d) 30

In which of the following countries did
Prime Minister Modi start ‘Ramayana

- Circuit’ on May 11, 2018 ?

(@) SriLanka
(c) Nepal

(b) Myanmar
(d) Indonesia

‘Purvanchal Express Way’ in Uttar
Pradesh will not pass through which of
the following cities ?

(a) Faizabad (b) Basti

(c) Azamgarh (d) Mau

According to United Nation’s E-Government
Index, 2018 India ranks at which place ?
(a) 9oth (b) 9sth
(c) 96t (d) 9gth

Which of the following States was in the
news for the outbreak of Nipah virus
disease in May-June, 2018 ?

(@) Bihar (b) Kerala

(c) Haryana (d) Gujarat

In which city the Indian National Digital
Library was dedicated to the nation in
June 2018 by Prakash Javadekar ?
(@) Bengaluru (b) Hyderabad

(c) Delhi (d) Chennai

What is the rank of India in the world as
per Global Peace Index (GPI), 2018 ?
(a) 136th (b) 137t
(c) 13sth (d) 134th
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63.

64.

65.

66.

67.

68.
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14578 15 IS 2018 7 & 1 STRRrg
BIT (FIFA) forear a0 & et et & 3
T foga ?
(a) 32
(c) 36

(b) 34

(d) 30
ferfeifaa ot o frad werm o 9 3
11718 2018 1 TR Wl 1 e
& ?

(a) e (b) TR

(c) Jura (d) SERRET

SR YN} ‘otae g ant’ fefiey
4 o R & 7 e ?

(a) FSETE (b) s

(c) TSI d) 9=

T g & ‘§-TTer i gashich, 2018 %
STTER A 1 HH—F1 T 2 7

(a) 90dT (b) 9547

(c) 96af (d) 99 df
frerferfaa ot & % mé-sm 2018 §
e s S % e % e =t
a7 ?

(a) fsmr (b) A

(c) i (d) TSR

Wt T fefoes geaehrer @ 2018
ﬁmma%mm%awﬁwaﬁ
HHf o m ?

(a) STge (b) Yot

(c) faeett (d) =g
e wifa gerenie (Sfdfend), 2018 &
TR foree TR Bt - T R 7
(a) 136af (b) 137 af

(c) 1384t

(d) 1343f
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69.

70.

7l

72

73.

74.

15th Pravasi Bhartiya Diwas in January | 69.

2019 will be held in which city ?
(b) Vadodara
(d) Pune

(@) Varanasi
(c) Jaipur

From 41 July 2018 the Minimum Support | 70

Price (MSP) during 2018 — 19 for paddy
per quintal is :
(@) Rs. 1,550
(c) Rs. 1,750

(b) Rs. 1,650
(d) Rs. 1,950

Who among the following won the | 71.

Pakistan’s Parliamentary Elections in July
2018 and became the Prime Minister ?
(a) Nawaz Sharif (b) Imran Khan
(c) Bilawal Bhutto (d) Reham Khan

Who among the following won the 42

Magsaysay Award, 2018 ?
(a) Bharat Vatwani

(b) Sonam Wangchuk
Both (a) and (b)

None of the above

()
(d)
The 10t ‘BRICS’ Summit 2018 was held
in which of the following countries ?
(b) South Africa
(d) China

(a) Brazil
(c) Russia

Which of the following is a Samhita of
Shukla Yajurveda ?

(@) Vaja‘sanam‘i (b) Maitrayani
(c) Taittiriya (d) Kathak

-14-

forg Trex I smrRnfRTa grm ?

73.

74.

O T A

<
159 v TR feE sHedt 2019 |

(a) SR H (b) TR H
(c) SERH @ T
4 TS 2018 ¥ H 1 Hfel paaet =i

Fofid gea (ToaE ) 2018 - 19 %
UERS

(a) %. 1,550 (b) %. 1,650

(c) ® 1,750 (d) %. 1,950
SreferRad 3 fFe SaTE 2018 H ATishEH
émém‘\aamasﬂmaﬂwumﬁsﬁam?
(a) TSIE (b)) THHEH

() FemEa g (d) WHEH

e 3 & fra o 2018 % HHE GEERT
Sfrar ¢

(a) STRA Feart

(b) EFH ST

(c) I (a) 3R (b)

(d) STk F IS TR

T ‘e’ (BRICS) firar @iier 2018
Frferiaa i T Smnfer ferm mn ¢
(a) TS (b) <faror afdeen
(c) &1 (d) =M
frefifed § @ #4 F a9 < ERd
&7

(a) ITSTEATH OR:ERU

(c) axl™ (d) H13h
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75. Given below are two statements, one is

76.

77:

b

labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Turkish invasions on
India were successful.

Reason (R) : There was no political
unity in North India.

Select the correct answer from the
codes given below :

Codes :

(a) Both (A) and (R) are true and (R)
is the correct explanation of (A)
Both (A) and (R) are true, but (R)is
not the correct explanation of (A)
(A) is true, but (R) is false

(A) is false, but (R) is true

(b)

Arrange the following temples in a
chronological order and select the correct
answer from the codes given below :

I. Brihdishwar temple

Il. Gangaikonda cholapuram temple
lll. Shore temple of Mahabalipuram
IV. Sapt pagoda

Codes :

@ 1, I, Iv, Il
b) I, 1, 1, IV
© I, I, 1, IV
(d) IV, 1, 1, 1

The inscription of Hathigumpha is the
source of information about which king ?
(@) Kharvela

(b) Ashok

(c) Harshavardhan

(d) Kanishka

-15-
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75. i 3t sher faw e & ol weh o e (A)

76.

T8

{ T—

qT TH <h! SHRVT (R) 8T TR |

A (A) : TG T Gehl SATHAT T B |
SRRUT (R) : 3T YR T TS feieh Tehelt 1t
ot |

< fou 2l & & ot 3 o1 = i |
RE: '
(a) e (A) TATHRYT (R) ST Tt & o

HR (R) A (A) hl T == 2

(b) = (A) T HIT (R) S @) & g
FRT (R) U (A) hi =Imen 78 @

(c) e (A) Tt 7, fohg 1T (R) 7ot 2
(d) 3 (A) eI 7, Tohg R (R) T &

=1 wfel ht hregen § rafe fifvo
aﬂiaﬁ%‘rﬁqiaﬁﬁwﬁwiﬁm
|. SediveRr Hfe
Il TeRIUE SeATqE i
lIl. RIS T 99 Hie
IV. H= YireT

%

(Y R | A VAR ]
(b) 1, 1, 1, v
() m, n, 1, v
(d) Iv, 1L, 1, 1

TR 1 srfirere T v & ey
T TH 7 Eq 8 7

(a) WRAdA

(b) 3TN

(c) w¥aeq

(d) HfTw=h
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78. Given below are two statements, one is
labelled as Assertion (A) and the other
as Reason (R).
Assertion (A) : In 1946, the Muslim
League withdrew its acceptance of the
Cabinet Mission Plan.
Reason (R) : The Muslim League
joined the interim government formed
in 1946.
Select the correct answer from the
codes given below :
Codes :
(a) Both (A) and (R) are true and (R)
is the correct explanation of (A).
Both (A) and (R) are true, but (R) is
not the correct explanation of (A).
() (A)is true, but (R) is false.
(d) (A)is false, but (R) is true.

(b)

LR ORI -

3
78, S RO TeE | T R (A) @
ZE i BT (R) e TR |
T (A) : 1946 T g i 7 “HisHe
e v 3 forg € g STt wefiepid e
e et |
WHROT (R) : 1946 T 7fed AT HEHR
3 gfeem o e gs o |
= Ry el # ¥t ST |
%c:
(a) M (A) AT HTT (R) S Hel & 4T
ST (R) F (A) ) T AL |
(b) T (A) T T (R) B G g
HT (R) T (A) I =T T R |
() T (A) HEI R, TG hRUT (R) TeTq © |
(d) R (A) Tt &, Tg RO (R) T T |

79. Which among the following sites | 79. Ffafag T § v T AEI9TEor S
provides evidence of domestication of ﬁqﬂ T S ST e E 7
animals in the Mesolithic period ?
() Odai (b) Bori (a) (b)
(c) Bagor (d) Lakhnia (c) SR (d) <T@

80." Which of the following pairs is NOT | 80. ﬁm‘%{'\@a?ﬁﬁaﬂqgﬁgﬁmﬁ%?
correctly matched ? (@) o TR 5 Il'l‘§
(a) Adina Masjid — Mandu
(b) Lal Darwaza Masjid — Jaunpur (b) AT SIS AT W
(c) Dakhil Darwaza  — Gaour (c) TRad @S - TS
(d) Tin Darwaza — Ahmedabad () T ST _ IEEET

81. Which |of the ;ol(;o'\?n'/ing pairs is NOT | g1, feffad gl o 1 w2 gofer e @ 7
c(::)rregt]srlur\?:;(;se_ éhagat Namawali (E)IRET = AT
(b) Nabhadas — Bhaktamal (b) TTHIGH - SeRqHICT
(c) Raskhan — Rasik Priya (c) @M - s TS
(d) Usman — Chitrawali (d) 3 - CPIERI

D -16-
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83.

84.

85.

82. Arrange the following events in their

chronological order and select the
correct answer from the codes given
below :

A. Hunter Commission

B. Sadlar Commission

C. Wood’s Despatch

D. Sargeant Plan

Codes :
(@ A B
b€ B
(g A B
(d) C

® > 0
O OO

A< B D

Who among the following leaders founded
the revolutionary organization — ‘Abhinav
Bharat Society’ ?

(a) Bhagat Singh

(b) Vinayak Damodar Savarkar

(c) Barindra Kumar Ghosh

(d) Pulin Bihari

Which of the following pairs is NOT
correctly matched ?

Rebellion Year
(a) Santhal 1855
(b) Kol 1831
(c) Khasi 1829
(d) Ahom 1815

Which of the following is the highest
waterfall in India ?

(a) Jog fall

(b) Kunchikal fall

(c) Rakim Kund fall

(d) Kevtifall

17
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82. frafafed weaietl #1 e aman

83.

84.

85.

e HIfY 3R A2 o 7 52 & w
3T T T T |

A. T MM

B. WSR3

feferied 3t & % ad g i 7

fosie L
(a) 9U 1855
(b) A 1831
(c) @ 1829
(d) 3Em 1815

frefafad & 19 wra &1 os@ S=1
S IR ?

(a) ST STef9gTa

(b) FeteheT STeTSUTd

(c) Ufrn Fue StervuTa

(d) Fafd SeyuTa
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o

86. ‘Vegetation is the true index of climate’.
This statement is associated with
(a) Thornthwaite (b) Koppen
(c) Trewartha (d) Stamp -

In which of the following countries is the
Pampas grasslands situated ?

(@) Argentina (b) Brazil

(c) Chile (d) Ecuador

87.

88. Which of the following pairs is NOT

correctly matched ? -

Desert
(a) Sonoran
(b) Taklamakan
(c) Karakum
(d) Gibson

Country

USA

China
Turkmenistan
Brazil

89. Arrange the following coffee producing
- countries in descending order of their
coffee production (2016, quantity) and
select the correct answer from the
codes given below :
A. Colombia
C. Brazil

B. Vietnam
D. Indonesia

Codes :

(@ D,C,B,A
(b) C,B,A,D
(c) B,D,C, A
(d) C,A,B,D

How much the maritime distance between
India and Europe was reduced after the
construction of the Suez Canal ?

(@) 5,000 km (b) 7,000 km

(c) 8,000 km (d) 10,000 km

90.

86.

87.

88.

89.

90.

.
X..

‘AR ST 1 TE g © | TE I
Tt ©

(a) oHeAE (b) A

(c) et (d) &=

FrerferRaa 3 & & foras we =8 1 BeH

feag?

(a) e (b) STSfA

(c) el (d) THSR

frefiRaa i 3 AF T gl T @ ?
TEEH L)

(@) THRA - .. e

(b) THATHRH - °H

(c) A - g™

(d) fisem - SN

FrefRaa iR 3cTeeh <l i 3k !

ITE (2016) (W) Y SRR FA H

rafeE &t 3= 3 T f @ T S

1 = W |

A. HIATET B. foaaam

C. SNia D. SENMRN

e :

(@) D,C,B,A

(b) C,B,A,D

(c) B,D,C,A

(d) C,AB,D

B T ¥ 77 T 3 T WA 3R

¥ wen gl o0 § et weft ol 2

(a) 5,000 f%.H. (b) 7,000 fe.H.

(c) 8,000f%.H. (d) 10,000 foh .
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92.

93.

94,

Arrange the following Indian Meteorological

Headquarters in Chronological order

of their establishment and select your

correct answer from the codes given

below :

A. New Delhi B. Kolkata

C. Shimla D. Pune

Codes :

@€ D A B

(b) B A D C

() D B ~.C A

@B € p A

Which of the following statements is

NOT correct ?

(a) Black soil is locally called ‘regur’

(b) According to Krabs the regur soil
is essentially a mature soil

(c) Black soils are highly retentive to
moisture

(d) Black soil is found in Himalayan
region

MacMohan line forms the boundary

between

(@) India and China

(b) India and Pakistan

(c) India and Myanmar

(d) India and Nepal

At the mouth of which of the following

rivers the ‘bird’s foot’ type delta is

formed ?

(@) Huang Ho (b) Nile

(c) Danube (d) Mississippi
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92.

93.

94.
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frefemeaa vt e e % s

TATYHT o HTATIHA § afeda i ik
A 7o T e ¥ o1 R I =
i |

A. % feeett B. hIcTehr

C. fmem D. gut

%c:

@€+ D A B

(B B- A" D G

e b B C.iA

B € DU A
FrefeiRea ot df PR w2 7

(a) et firgh <ht Tl s YR v
ST ® |

(b) 8 % ITAR IR A srfed e @
T gitgea firgh St & | ‘

(c) Il gt & et () ewRor
6! 359 SHAT B 2 |

' (d) hreft firdh e 3 FuRf s &

Aerwiter Y o Y s 2
(@) IRd @ 7 & &g

(b) ¥R TE wifehea™ & g
(c) ¥Rd Td WTRIR & ol
(d) 9RA W& U & g

Frreferfea el & e geit w “asft

T’ Y STHR AT Soe ST R 7
(a) MR (b) &
(d) ferefiferdt

(c) S==
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95.. Natural growth of population is the

96.

9%.

98.

99.

outcome of which of the following ?
A. Crude Birth Rate

B. Crude Death Rate

C. Migration

D. Marriages

Select the correct answer from the
codes given below :

Codes :
(@) Only A (b) Only C
(c) BandD ~(d) AandB

The Human Development Index (HDI)
was first developed by which of the
following ? ‘

(a) UNDP

(b) IMF

(c) UNICEF

(d) UNCTAD

Which of the following is the largest rural
employment programme in India 2

(a) MNREGA

(b) TRYSEM

(c) Work for food

(d) Skill Development Programme

Which of the following is measured by
the Lorenz curve ?

(a) MNiteracy

(b) Unemployment

(c) Population growth rate

(d) Inequality of Income

Which of the following States is ranked
economically at the top but the lowest
on the basis of sex-ratio ?

(a) Madhya Pradesh

(b) Maharashtra

(c) West Bengal

(d) Haryana

95.

96.

97.

98.

99.
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TN

i S T g B A free
o R 7

A. ITSNTE ST &

B. ITMEM Jg

C. WosH

D. foam

2 7MY 2 ¥ T I H T AT

=
(a) had A (b) e C

(c) B3R D (d) A3RB

7 3 ¥ foreeh g0 A foeE e
(HDI) TEger forenfra feman T ?

(a) LS9 T
(b) 3TTE.TH.TH. T
(c) s g
(d) 3RS T

fyefefaa § o 9a | TTHT TSR 0
Tl TSI FRFA T ¢

(a) =AM

(b) ZrEEH

(c) M % Sacl IS

(d) et e Rl

?ﬂ%@aﬁﬂq?ﬁiﬁfaﬁmw
? ;
(a) ARTET

(b) éflsj‘llﬂgﬁg

(c) SHEEAT =08

(d) 31 < fowwan

frfiRaa usl i shia sflen gfee & wed
géﬁ?%ﬂmﬁ%mmmﬁ%
(a) "I

(b) HEMIS

(c) Tfz=m s

(d) ®fmom
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100. Which of the following taxes is levied by

101.

102.

103.

104.

105.

the Gram Panchayats ?
(@) Sales Tax

(b) Land Revenue Tax
(c) Tax on Local Fairs
(d) None of the above

In India which of the following Five Year
Plans was launched with a focus on
sustainable growth ?

(a) oth (b) 1oth

(c) 11t (d) 12th

Which of the following cities in Uttar
Pradesh has NOT been selected for
development under the Smart City
Development Programme of the Central
Government ?
(@) Lucknow

(c) Ghaziabad

(b) Allahabad
(d) Kanpur

What is the current Total Fertility
Rate (TFR) of India according to the
National Family Health Survey (NFHS)
(2015 -16) ?
(@) 2.2
(c) 3.2

(b) 2.4
(d) 3.4

Which of the following committees was
set up in India for identification of BPL
families in Urban Areas ?

(@) Tendulkar Committee

(b) Saxena Committee

(c) Lakdawala Committee

(d) Hashim Committee

According to the India State of Forest
Report, 2017, what percentage of total
geographical area of the country is
under forest ?
(a) 20.34
(c) 21.54

(b) 22.34
(d) 23.54

GCTWY - 01

100. F=fefad 1 § SH-a1 9= um v=maet

101.

102.

103.

104.

105.
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B AT ST & 7

(a) foshi =

(b) ¥-TET T

(c) T I W

(d) I & g T

i # fr=fafed o aut gismmet &
forerer1 e &7 ‘gt gfy’ on 7
(a) 9di (b) 107

(c) 11 (d) 12 |
W YN & Freferfea 7 3 @ g =
& foreprar rlsrm 1 e 3 for 3w
TR G A FAT R ?

(a) TETS (b) 3G

(c) isTeg (d) FFE

TSR IRAR SR B0 (NFHS) (2015 - 16)
AR TATH F R Y A T X
(TFR) FT 2 ?

(@) 2.2 (b) 2.4

(c) 3.2 (d) 3.4 |
RA & T & § . d v, aRerR) &
S % fort FefiRea 3 3 -t aify
w%a;ﬁw% :

(a) ST

(b) TR |ty

(c) <Tehearen afyfy

(d) sRm wffy

3eA-Ve % wrwe A9 2017 &
IIER, o0 & FoA WA ST%a =i
ﬁﬁmaﬁsmima:ﬁamiwfa%?

(a) 20.34 (b) 22.34

(c) 21.54 (d) 23.54
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106.

107.

108.

109.

110.

111.

112.

113.

When was ‘Project Tiger’ launched in
India ?

(@) 1968
(c) 1984

(b) 1972
(d) 1993

Which of the following is an example of
anthropogenic biome ?

(a) Fresh water (b) Grassland

(c) Rainforest (d) Cropland

Which of the following animals can live
for the longest duration without drinking
water ?

(a) Giraffe
(c) Kangaroo

(b) Camel
(d) Kangaroo rat

India’s first National Centre for Marine
Biodiversity (NCMB) is located in which
city ?

(a) Bhavnagar
(c) Mumbai

(b) Jamnagar
(d) Puducherry

Dachigam National Park is associated
with which of the following ?

(@) Musk Deer

(b) Golden Oriole

(c) Yellow-throated Marten

(d) Hangul or Kashmir Stag

When the World Biodiversity Day is
observed ?

(@) March, 22
() June, 23

(b) May, 22
(d) April, 16

Which of the following is concerned with
soil ?

(a) Edaphic
(c) Biotic

(b) Climatic
(d) Topography

The maximum concentration of ozone
is found in which of the following ?

(a) Troposphere (b) Mesosphere
(c) Stratosphere (d) Exosphere

106.

107.

108.

109.

110.

111.

112.

113.
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TR 3 ST GRS e YIE ohi TR 7
(a) 19687H (b) 19727%H

(c) 1984 (d) 1993 %
Freafefaq & #1F TG ST 1 Th
JTEMR ?

(a) Seras (b) ©TE T HH
(c) i aH (d)
Frffaa & SR-1 Ser fomm o 91
e o) oTaf ok & HRAT © 7

(a) T (b) <

(c) wTE (d) e =-T
9d FT IIH TS 2T BT AT
TEeEard (.. . fra e d
fazg?  _ :

(a) WEFRH  (b) SEERHA

(c) =S H (d) gg=aH

i T o Frefafaa 3 @ el
grfRE R ?

(a) SRl

(b) TeeA ATEA

(c) I-%Ies AR

(d) T AT HIHR T

forga 39 fffrar feee e wARn ST S ?
(a) T, 22 (b) S, 22

(c) ¥, 23 (d) 1, 16
frafaRed § FF ge & Tt §

(a) 3= (b) FATEHEH

(c) smfesm (d) TR
frm 3 @ fred oS Y waiftes |iEan
fret? ?

() ihRRd (b)) HEEERRH

(c) WawhmH  (d) SRR
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115,

116.

147,

118.

119.

114. As a result of global warming the
frequency and severety of which of the
following are increasing due to global
warming ?

(@) Cyclones only

(b) Storms only

(c) Hurricanes only

(d) All of the above

Which of the following is NOT an example

of in-situ conservation strategy ?

(a) Biosphere reserve

(b) Botenical garden

(c) National Park

(d) Sacred groves

Ultra-violet radiation from sun light

causes the reaction that produce which

of the following ?

(a) CO

(b) SO,

(c) (O

(d) Fluorides

Norman Borlaug was given Nobel Prize

in which field ?

(@) Agriculture  (b) Economics

(c) Medicine (d) Peace

Which of the following paris is NOT

correctly matched ?

(@) Renneting-Cheese

(b) Genetic Engineering-Plasmids

(c) Golden rice-Vitamin A

(d) Ozone layer-Troposphere

Which of the following pairs is NOT

correctly matched ?

(@) Bandipur National Park-Kamataka

(b) Manas Wildlife Sanctuary-Assam

(c) Periyar Wildlife Sanctuary-Kerala

(d) Simlipal National Park-Madhya
Pradesh

114.

115.

116.

HZ

118.

119.
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AT I F o wEY PERifag 3
foreeh! ST it TEved T @ R
(a) e TshaTd
(b) e THEM
(c) had SEUT H
(d) SWih g} i

ﬁmﬁ%a%ﬁga—wwmm
1 I AL 2 2
(a) SITHUES TR
(b) WHW'WW

I
((8 qfed 39
T o ToRTT & UHT-sit Ryfror s
it ?
(@) IEH AHTETES
(b) HH TT3 ATFTES
(c) NS
(d) wRTEEH
?ﬁ?@@ﬁﬁ%&éﬁﬁmw
Y& o TRy 7
(@) FHt (b) Tef3ITE
(c) 3Nufy (d) wnf< _
ﬁw%@agﬁﬁaﬁqaﬁgﬁ%aﬁ%?
(a) WfET-udit
(b) S ENfEh—cenferey
(c) Mo =Maa-faefim A
(d) TSN Wa-rfehRR
ﬁw%ﬁ%ga@n‘iﬁﬂqmgﬁﬁ—mﬁ%?

(a) IR AT ITH-Fleh
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120.

121.

122.

123.

124.

125.

According to J.V. Narlikar which of
the following has so far NOT been
considered as a science ?

(a) Astrology

(b) Astronomy

(c) Cosmology

(d) Nanotechnology

Which of the following was invented by
Wilhelm Roentgen ?

(a) Radio

(b) X-Ray Machine

(c) Electric Bulb

(d) None of the above

‘Double-helical structure of DNA'was

given by whom ?

(a) Jacob and Monod
(b) Watson and Crick
(c) H.G. Khorana

(d) None of the above

Which of the following electro magnetic
radiations has the maximum energy ?
(@) Visible light

(b) Infrared rays

~ (c) Ultraviolet rays

(d) X-rays

Methane is emitted from which of the
following ? :
(a) Paddy fields only

(b) Termitary only

(c) Both from (a) and (b)

(d) None of the above

Which of the following elements is a
semi conductor ?
(a) Aluminium
(c) Silver

(b) Silicon
' (d) Lead

120
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(c) = (d) e
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126.

127

128.

129

130.

131.

0O

How many types of justice, liberty,
equality and fraternity in that order has
been mentioned in the preamble of
constitution of India ?

(@ 3,5,2 1 (b)=1-8,5 2
(e)-2,5,3:1 (d) 5:2,41, 3

Who was the UPA candidate for the
2017 Presidential election ?

(@) Ms. Meira Kumar

(b) Mr. Gopal Krishna Gandhi

(c) Dr. Karan Singh

(d) None of the above

Who was the first Vice-Chairman of the
NITI Ayog ?

(@) Arvind Panagariya

(b) Raghuram Rajan

(c) Chandrashekhara Subramanyam
(d) Rajiv Kumar

Which of the following is the first State in
India formed on the basis of languages ?
(@) Kerala

(b) Madhya Pradesh

(c) Andhra Pradesh

(d) Uttar Pradesh

Which of the following is an extra-
constitutional agency ?

(@) Union Public Service Commission
(b) Finance Commission

(c) Election Commission

(d) NITI Ayog

The recommendations of Sarkaria
Commission relate to which of the
following ?

(a) Distribution of revenue

(b) Power and functions of the
- President

() Membership of Parliament

(d) Centre-State relations

126.

127.

128.

129.

130.

131.
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 WRA % HagH $ y&arE § R vER

1 AT, TCPIT, T TS ST B 3eft
0 A Iga R g ?

(@) 85,2 1 (b) 1,3,5,2

) 2,5,3,1 d) 5,2,1,3

2017 o Trgufal gATe 3 37, .0, o St
aﬁ-rm%f?r -
(@) G AT FAR

(b) 1. TR FHwom Trief

(c) . = fg

(d) 39 | wrE T

AT ST =1 g IqTene (Sgafa)
HF o1 ?

() 3Rfer= TTfean

(b) TSH

(c) Wﬁ?&%@?

(d) TSha FaR :
Frfafea 3 - wra & w3 emum
W ] UEAT T o7 7

(a)

(b) e e

(c) 3Ty Jasr

(d) SR ¥ewW i
frmicifan & i v wReRm T d 7
() == < Qa1 AR '

(b) forr st

(c) Tafem smm

d) Hifq s

TUHTRET SR <t Feglera frefoRad §
Tored grafRg R 7

(a) TSI o1 ferawor

(b) T=gufa it iR v

(c) €EQ il gewar .

(d) H=-T Ty
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132.

133.

134.

135.

136,

137.

The Parliamentary form of Government
was first introduce in which country ?
(a) Great Britain (UK)

(b) Belgium

(c) France

(d) Switzerland

The Council of States has exclusive powers

in relation to which of the following ?

(a) To initiate proceedings for the
removal of the President

(b) To initiate proceedings for the

removal of a judges of the Supreme

Court

To recommend creation of a new

All India Service

None of the above

(©)
(d)

In which Part of the Constitution of
India we find the provisions relating to
citizenship ?
(@) Partl

(c) PartVil

(b) Partll
(d) PartIX

Parliament can Amend the provision
on official language of India under the
Constitution by

(a) a simple majority of its members
(b) 2/3"d majority

(c) 3/4t majority

(d) support of 1/3 of its members

After how many days of absence from
Parliament without permission can a
M.P. be disqualified ?

(a) 30 days (b) 60 days

(c) 90 days (d) 120 days

Who among the following Governor
Generals ridiculed congress as
representing only a ‘microscopic minority’
of people ?

(a) Lord Dufferin

(b) Lord Curzon

(c) Lord Minto

(d) Lord Lansdown

132.

133.

134.

137.
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(a) S SHA
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138. What is Dhing Express ?

139.

140.

141.

142.

(@) Train between Dhing and Kolkata

(b) Nickname of Hima Das

(c) Express way between Palwal and
Kundli

(d) Popular Magazine

Mary Kom has recently (Sept. 2018)
been made brand ambassador of which
of the following ?

(a) Swachcha Bharat

(b) BSNL

(c) Beti Bachao Beti Padhao

(d) Project Khel

Supreme Courts judgement regarding
homosexuality is related to which of the
following ?

(@) Section 377 of IPC

(b) Article 377 of the Indian Constitution
(c) Article 277 of the Indian Constitution
(d) None of the above

Supersonic Cruise Missile BrahMos is
joint venture of which of the following ?
(@) Indian and Russia

(b) India and China

- (c) India and Israel

(d) None of the above

Andrez Manuel Lopez Obrador is
President elected in July 2018 of which
of the following country ?

(@) Venezuela (b) Argentina

(c) Mexico (d) Nicaragua

138.

139.

140.

141.

142.
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T T R ?

(a) @i qAT HicTehrar Ty WM
(b) Temm a8 1 esien I

(c) USTA dUT FUSe! & == TNy 9
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w0 im 1 T € F (Rearr 2018) fm
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143. On the basis of Panama Papers, the

144.

145.

146.

147.

Prime Minister of which of the following
countries was sentenced to 10 years in
jail for corruption ?

(a) Maldives

(b) Trinidad

(c) Pakistan

(d) None of the above

As per draft National Register of
Citizen (NRC) of July 2018, which of
the following States more than 40 lakh
illegal migrants were found ?

(a) Nagaland (b) Mizoram

(c) Assam (d) Tripura

Who of the following inaugurated
SAFAR (System of Air Quality and
Weather Forecasting) in July 2018 ?
(a) Ravishankar Prasad

(b) Piyush Goyal

(c) Dr. Harshvardhan

(d) None of the above

As per report released by U.S. Journal,
‘SCIENCE’ on 26" July, 2018, a massive
underground lake has been detected on
which planet ?
(a) Jupiter
(¢) Venus

(b) Saturn
(d) Mars

American President Donald Trump met
North Korean leader Kim Jong on 12

: June, 2018 in which country ?

(@) Malaysia
(c) Singapore

(b) Indonesia
(d) Thailand

143.

144.

145.

146.

147.
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v 148. Match List — 1 with List - Il and select | 148. ¥t — I T=ft — 113 gitfra iRk | )

the correct answer from the codes given - Teu el 8 wet s w1 = Hifv |
below. W : : ‘I'ﬁ i
Let- | Lst-II (3Teror e % wgsTE (3R )
(Samudra Gupta’s (Their Kingdoms) > 3 W)
Contemporary Kings :
of South India) A. TTSH 1. 3,'5'5“"
A. Dhananjaya 1. Avamukta B. Hierre 2. el
B. Nilaraja 2. Kanchi C. 3U&H 3. FEAR
C. Ugrasena 3. Kusthalpura D. femopman 4. YTAFR
D. Vishnugopa 4. Palaka %z
Code : . AB C D
A-B C D ;
TEgT
) 2.1 4 3 E; T
c
@ 3.1 4 o -
@ 4-3 -2 | @) 4:3° 9 49
149. Which of the following centres related | 149. =% @ fig wwrar 3 Tl =-a 3=
to Indus Valley are situated in Uttar ST d R g ? :
? 2
Pradesh e o 21 & @ T I == i
Select the correct answer from the . Fefs
codes given below : ”' .
~|. Kalibanga :
II. Lothal ll. ST
Ill.  Alamgirpur V. g™
IV. Hulas
%®e:
Codes : - (@ I n,m v
(@) I, 11, 1, IV b) 1 I
B Ll (c) I, 1
) LA d) I, Iv
(d) 1, Iv (d) 1,
150. Which of the following institutions | 150. T3 & e ween Rrefr e & et
belonged to foreign trade ? off ?
(a) Sreni (b) Nagaram (a) Foft (b) TRH

(c) Nanadesis (d) Manigrama (c) TR (d) wfomm
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Candidate must read all the instructions before writing the answers.

You are to mark your answer on Answer-Sheet only. After the examination is over, handover the original
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1. Answer all questions. All questions carry equal marks.
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21. Change the given sentence into
passive voice :
Who killed the snake ?

(@) Who was killed by the snake ?
(b) By whom was the snake killed ?
(c) The snake was being killed.

(d) By whom is the snake killed ?

22. Fillin the blank with the correct
option :
| tried to help him the
best of my ability.

(a) at
(b) to
(c) from
(d) of =

Instruction for Question Nos 23 to 27 :

Read the following passage carefully and
answer the questions that follow :

Speech is a great blessing but it can also be a
great curse; for while it helps us to make our
intentions and desires known to our fellows,
it can also, if we use it carelessly, make our
attitude completely misunderstood. A slip
of the tongue, the use of an unusual word,
or of an ambiguous word, and so on, may
create an enemy where we had hoped to win
a friend. Again different classes of people
use different vocabularies and the ordinary
speech of an educated man may strike an

uneducated listener as pompous. Unwillingly

A

NN A

T
we may use a word which hears a different

meaning to our listener from what it does
to men of our own class. Thus speech is
not a gift to use lightly without thought, but
one which demands careful handling. Only
a fool will express himself alike to all kinds
and conditions of men.

23. The best way to win a friend is to
avoid

(a) irony in speech

. (b)" pomposity in speech
- (c) "verbosity in speech

(d) ambiguity in speech

24. While talking to an uneducated person,
we should use

(a) ordinary speech
(b) his vocabulary
(c) simple words

(d) polite language

25. If one uses the same style of language
with every one, one sounds

(a) flat

(b) boring

(c) foolish

(d) democratic

26. Speech becomes a curse, if it
(a) hurts others
(b) leads to carelessness
(c) creates misunderstanding
(d) reveals our intentions



-

28.

29.

30.

31.

(d)

R0 A A
¥

27. Speech is a gift, if it

creates confusion

communicates our meaning
clearly to our fellows

becomes ambiguous
is used lightly

(a)
(b)

()
(d)

The phrase “Pyrrhic Victory” stands
for

easy victory

honest victory
victory at a high cost
victory at a low cost

Choose the word which is opposite in
meaning to VENERATE'.

(a) respect
(b) condemn
(c) severe
(d) initiate

Change the following sentence into
complex sentence :

‘Without your help he can do nothing.’
(a) Without your help what can he do

(b) Unless you help him he can do
nothing

He can do nothing without your
help

He can not do anything unless
you help him

(©)
(@)

Identify the part of speech of the
underlined word :

The boys ran round the tree.
(a) adjective

(b) adverb

(¢) noun

preposition

32.

33.

34.

35.

GCTWY-02

Change the following sentence into
indirect form :
The teacher said, “Be quiet, boys”.

(a) The teacher said that the boys
" should be quiet

The teacher called the boys and
ordered them to be quiet

(b)
(c) The teacher urged the boys to be
quiet

(d) The teacher commanded the boys
that they be quiet

Complete the sentence with suitable
alternative :

- The son asked his mother if he

(a)
(b)
(c)
(d)

can go out
may go out
might go out
did go out

Fill in the blank with the appropriate
word :

It is difficult for me to part
my belongings.

(a) with

(b) from

(c)
(d)

Pick out the synonym of ‘ERUDITE’
from the following.

(a)
(b)
(c)
(d)

away
off

execute
expanse
academic
settle
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36.

37.

38.

39.

40.

(b)

How many natural numbers are there

in between +/841 and /3249 ?
(a) 26 (b) 27
(c) 28 (d) 29

If 20% of (X + Y) = 50% of (X —Y),
then X : Y is equal to

(a) 37 (b)=5=7

(c) 7:3 (d) 7:5

If the compound interest on a sum
for 2 years at 12-;—% per annum is

¥ 340, then the simple interest on the
same sum at the same rate for the
same period-of time is

(a) ¥ 310 (b) ¥ 320
(c) 330 (d) % 335
The area of the given circle is 36m. It

has been divided into six equal parts.
The length of arc PQ will be

(@ =
(c) 4rn

(b) 3m
(d) 2n

A right angled triangle having
hypotenuse 25 cm and sides are in
the ratio 3 : 4 is made to revolve about
its hypotenuse. The volume of the
double cone so formed is

(a) 1000w cm?

12507 cm®

15007 cm?®

15751 cm®

()
(d)

fifii she

36.

37.

38.

39.

40.

AR |II|||||II|lllﬂl|“I| [l

J841 3R /3249 ésqwm#’rs@m
HEAUE ?
(a) 26

(c) 28

(b) 27
(d) 29

I (X +Y) F120% = (X = Y) 1 50% &,
WX :Y FER S

(@ 3:7 () 5:7

) 7:3 d) 7:5
aﬁq&suﬁuwzaﬁﬁm % Gfcre <At gt
W TRIfG ST 3 340%,a‘r:wﬁatﬁrwm
i1 R It i o o aremor sasr s
BT 7

(a) %310 (b) ¥ 320

(c) T 330 (d) % 335

T3 T 371 T el 367 © | SR 6 SIS
I H SIET TR R | =09 PQ hl ST BT

(@) =©
() 4rn

(b) 3n

_ d) 2n

T THehIvT TS B, Forereht kot 25 @, @
@W3:4%ﬂqﬁﬁ%,iﬁﬂfa?qﬁﬁ:
TTEHHOT U ST © | 39 YRR v fawie
EIRGIDRERS

(a) 1000 Afte

(b) 1250n T

(c) 15007 &t

(d) 1575n fie
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A A A
L TRHY ,,:? Al Eliia di e

41,

42.

43.

44,

2 2

X t+y
xy +y?

If _+}’_ = 2, then value of

Yy =X
is equal to

(@ 0
(b) 12
(c) %
(d) 1

If X, y, z are positive integers such that
X:y=1:2andy:z=3:5, then which
one of the following will be possible
value of 5x =3y + z ?

(a) 180
(b) 190
(c) 196
(d) 200

If x -2 is a factor of polynomial
X3 + 4x? — 3x — 18, then it’s other
factors are

(@ x+2,x+3
(b) x-3,x+1
() x+3,x+3
(d x+1,x+2

The roots of the equation x2 + px + q =0
are 1 and 2, the roots of the equation
ax?

= px +1=0must be

niil spe

41.

42.

43.

44,

GCTWY-02

Ife x+-_=2% Fﬁ X +y
Yy X

TR B

(@ 0

(b) ¥

(C) Y -

(d) 1

afe x, y, z T qUTieh 36 YR & fh
x:y=1:23ﬂty:z=3:5,?‘ﬁ
ﬁw%%aﬁ@aﬁq—msbsynsm
GYE I i 7

(a) 180

(b) 190

(c) 196

(d) 200

~ HUH &

211'i’?w|§l1'<:’x3+4x2-3x-18‘<=r>"r
Teh TUMETE x — 2 B, 1 36 311
TS §

(@ x+2,x+3

(b) x=3,x+1

() x+3,x+3

(d) x+1,x+2

TR 2 + px + q = 0 H T 1 ao 2§,
A TR gx2 — px +1=0%ga g

(a) 1

o)

1
B 5.

1
o=
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45.

46.

47.

48.

49.

Which is not a part of communication
process ?

(a) Medium

(b) Life values and vision
(c) Transmission

(d) Information

Which of the following characteristics
is most important for taking appropriate
decisions for socially disadvantaged
persons ?

(a) Empathy

(b) Extroversion

(c) Emotional instability
(d) Authoritarianism

The biggest advantage of regular
interaction between officer and
sub-ordinates in an organization is
(a) It satisfies the sub-ordinates
(b) It results in decrement group
relations
(c) It facilitates effective decision
(d)

making .

It discourages the sub-ordinates
Irrational decisions taken in a high
conformity group is called
(a) Creativity
(b) Group thinking
(c) Informality
(d) Psychological vigilance

Which decision making style is most
productive ?

(a) - Passive .

(b) Aggressive

(c) Assertive

(d) Passive-aggressive

45.

46.

47.

48.

49.

O R O8O
Frefafed § @ S-a1 gxm sﬁ?;;
AR R ?
(a) HIEIH
(b) Sere T g
(c) =
(d) &=

frfafad § & S-= Rt gmfe
w0 @ dfa st 3 R 3f fokr &
3 fore st el R 7
(a) Ol '

(b) SfegE
(c) HaTTHe JAFERRAT
(d) GaTETiear

§

forel) Tre H SAfRreRT e STefivet & e
Frafia t=afshan = G=@ ST A AT ®
(a) I8 e A TG T !
(b) 8 THE TelEll hl Tl §

(c) ue wwra ot fmfor =6 g st &
(d) IE ITefiTEt i wdlcaTied il §

Il IFTEYAT TE § fo1e T Sttt o
FEeld &

(a) GSiHIcHshdl

(b) YR

(c) IR

(d) TS Tdehdl

ot o <l - vgfa Taite
I R ?

(a) Tfea

(b) ATEHHR

(c) Fedmah
(d) TAfsha—2Tmerme
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50. While j.elling ;a V\f/astc/h, a §trlopkeelfe(jr 50. @@ﬁwm@wmﬁﬁﬁ
gives discount of 5% on it's marke . .
price. If he gives discount of 10%, then Ko Kﬁ{g%m%,' ST 10% ﬁq&
he earns ¥ 25 less as profit. Marked <, ?h@m%@’ﬁ 3 25 %M 5T B |
price of the watch is oISl 1 3ifehd Tow 3
(a) ¥ 300 (@) ¥ 300
(b) ¥ 380 (b) ¥ 380
() ¥ 500 (¢) ¥ 500
(d) ¥ 700 (d) ¥ 700
A student has to secure 45% of marks TS RIS H T T by e B 36 R 459%
to pass an examination. He gets only mmmﬁtﬁﬁ% | 8 SaA 50 31 I
50 marks and fails by 4 marks. The T & 3#( 4 ST ¥ w8 e R |
maximum marks is HAfrerem e F R 7
(@ 110 (@) 110
(b) 120 (b) 120 -
(c) 135 (c) 135
(d) 150 (d) 150
10 women can complete a work in U B ol 10 31 7 o & o ot et 2
7 days and 10 children take 14 days to 3R 36 %Rt 10 5= 14 feqi o T
complgte the same work. l-_iow many Hhd & | 58 Emzfq,ﬁ 5 3TRd a91 10 5=3
:jays will 5 women and 10 children take e ﬁ"—ﬁﬁg{r FHEY 7
0 complete the work ?
(a) 3 ‘ ey
(b) 4 ) ¢
(c) 5 (c) 5
(d) 7 (d) 7
The average age of a husband and his e 5 He Tk 3R iR 35 ol < adeg
wife was 23 years at the time of their 1Y 23 7 of | 599 91, 37 419 1 99 &
marriage. After 5 years, they have a = e £ eiag et
one-year old child. The average age of 27 ¢ :ﬂafﬁ # i
the family now is -
(a) 19 years (@) 19
(b) 28 years (b) 23
(c) 28.5 years (c) 28.5%a
(d) 29.3 years (d) 29.3%9




GCTWY-02

54. Every novel of Premchand can be

55.

56.

57.

58.

read in a day. Therefore all novels
of Premchand can be read in a day.
This involves the fallacy of

(a) Division

(b) Composition

(c) Petitio principii
(d) None of the above

Assertion (A) : Education is must for
success.

Reason (R) : Education is key to
success.

Select the correct answer from the
code given below :

(a) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(b) Both (A) and (R) are true but (R) is
not correct explanation of (A)

(c) (A)is true and (R) is false

(d) Both (A) and (R) are false

Iron is a cheap metal’ is an example of
(a) Accidental definition

(b) Figurative definition

(c) Synonymous definition

(d) Too narrow definition

‘Division of chairs into leg, back and
seat’ is an instance of

(a) Logical division

(b) Physical division

(c) Cross division

(d) Metaphysical division

If x and y are positive integers such
that x2 — y2 = 13, then the possible
value of x? + y2 will be

(a) 90 (b) 85

(c) 72 (d) 65

-10-
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55.

56.

57.

58.

OO R O A

*

TordT & | TEfeTT YHee o Tt SU=IH Th
1 U2 S TR © | 5Ee iR ash A §
(a) fomre

(b) T

(c) ATHEHA

(d) S § & B AR

YA (A) : T o fore e iFEw R |

HROT (R) : e aherar i e 2 |

areiferRad ge & T2 SR AT :

(a) (A) e (R) aH T @ 3R (R), (A)
1 TS AT B

(b) (A) T (R) A & & g (R), (A)
1 TE) SIS T ° |

(©) (A) T g 3 (R) 3 &

(d) (A) 3 (R) 3T 37 &

‘T T T g B IE 38T 8
(a) AT TRHATST

(b) TTHIIE TRHATST <l

(c) Tt ARSI Al

(d) 3T YR T

‘SR =1 2, froa fown qen die |

I x 3R y oTeHeh Uit 38 YRR § R
X2 —y2 = 13, Q1 X2 + y2 1G9 HH BT
(a) 90 (b) 85
© 72 (d) 65
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5805 THe diagonals of a rhombus are of

60.

61.

62.

lengths 24 cm and 32 cm. Length of
the side of rhombus (in cm) is

(a) 16
(b) 20
(c) 24
(d) 30

A hemisphere and a cone have equal
bases. If their heights are also equal,
then ratio of their curved surface will
be

(@ 2:1
(b) 1:2
(e} N2
) 1: 2

The length, breadth and height of a room
are 12 m, 4 m and 3 m, respectively.
A man wants to put rods of lengths
14m,12m, 13 mand 15 min the room.
Maximum number of rods which he can
put in the room is

(a) 1

(b) 2

(c) 3

(d) 4

If the mean of x,, x, is 7.5 and the mean
of x,, X,, X, is 8, then the value of x, is
(@) 9

(b) 8

() 7.5

(d) 6

A1:

59.

60.

61.

62.

GCTWY-02

T FHEIGHST o forehult sh evatsat 24 O,
e 32 Tefl. ¥ | EreIqS % o i o
(zaft. ) &

(a) 16
(b) 20
(c) 24
(d) 30

Th AT 3T T I % IUR G99
g 19 S el s M R, A s O
31 T ST BT

(@) 2:1 i

(by ;)12

(c)- 42 .1

(d) 1:42

T R S TS, SSTS 99T SaTs SHEIT:
12 #1., 4 9. qan 311, B | ueh amedi 39
F Y 14 1., 12 #@., 13 f. qer 15 .
el S ol TEHT ITEAT © | 369 F & 98
aﬁlﬁnmﬂ@ﬁr@m%?

(a) 1

(b) 2

(c) 3

(d) 4

Al x,, x, A 7.5 X, x,,
88, Mx,FAR R

(a) 9

(b) 8

(©) 7.5

(d) 6

X, T AT
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63.

64.

65.

66.

Which one of the fol!lowing is not included
in classroom communication ?

(a) Indirect communication
(b) Informal communication
(c) Silent communication

(d) Formal communication

For which purpose circular type of
communication is most suitable ?

(a) Member dissatisfaction
(b) Effective judgement process
(c) Member satisfaction

(d) Effective transmission of
information

Listening can be best defined as

(a) The physiological process of
decoding

(b) A process we use to make sense
out of what we hear

(¢) Forwarding the information that has
been communicated

(d) Recalling information that has been
communicated

What is meant by responding ?

(a) Focussing on a particular sound or
message

(b) Sorting the various sounds that
draw your attention

(c) Confirming your understanding of
a message

(d) Assigning meaning to messages

-12-

63.

64.

65.

66.

Pt S D
aftifoa =i ® ?

(a) THTET TEITOT

(b) SFTTEIRE T

OREE

(d) =i aemoT

o 389 B JATHR TR HallReh
U & 7

(a) W IS

(b) Gem Fofg wfsen

(c) HeEmwgfe
(d) T % TET TR

T I Tt et atE o aRwfya

foparm <11 Treha 2

(a) HeaTeH i afgeh shar & &9 8

(b) SNEH G & et 1ot forrer & sy
T i o ®9

(c) Tl ol T8 YT hY STHING HEAT

(d) ST oht T T T TeTaTe T

giafsran 33 & 379 o gHea § 7

(a) T foI3TSS STTaTT AT HTT T & Higd
T

(b) A9 T EeH arel it stars
& BT

(c) T TexT o Wi oTot wow <y gfee
T

(d) TR oA A T ST
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6?: If median and mean of the first 10 prime

68.

69.

70.

numbers are M and m, respectively,

‘then

(@) M=m
(b) M>m
(©) M<m

(d) None of the above

Mode of the observations 0,1.6, 7,2,
3,7,0,7,2,6:6,7,5,.0, 75

(a) 3.8
(b) 6
(e): 7

(d) None of the above

The proportion of various items in a pie
diagram is directly proportional to the

(a) Area of slices
(b) Angle of slices
(c) Length of curved arcs of slices

(d) Perimeter of slices

The relationship that exists between
3 and 11 will exist between 7 and

(a) 22
(b) 29
(c) 18
(d) 51

-13-
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67. aﬁmwmé@mﬁﬁmf@aﬁr@

68.

69.

70.

HIE ShERT: M 3t m 2, &
(@ M=m

(b) M>m

) M<m

(d) 39 8§ Y RIS T

9101 0,1,6,7,2,8,7,0,7,2,6,6, 7,
5, 0, 7 1 SETh &

(a) 3.8

(b) 6

(c) 7

(d) ST 5 & g T

Tk S ot & fafiret el e avom Rk
AT BT ] ?

(a) 73T % &FA &

(b) ST =il

(c) T o a5k =Tt =Y TS

(d) 379t & gt &

Sl & 3 31 11 1 R ot Ty 7 o9 e
H g ?
(a) 22
(b) 29
(c) 18
(d) 51
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71,

72

73.

74.

Which of the following is a type of
horizontal communication ?

(a) Lateral communication
(b) Downward communication
(c) Upward communication

(d) Neutral communication

Which one of the following can be

termed as verbal communication ?

(a) Professor Sharma delivered his

lecture in the class

Professor Verma gave the

message to the students through

mobile

(c) The child was crying to attract the
attention of the mother

Deepak wrote a letter for leave
application

(b)

(d)

Communication through gesture is
related to

(a) Kinesics

(b) Proxemics

(c) Para-language

(d) Non-verbal behaviour

Which one of the following is not a form
of communication ?

(a) Interview
(b) Reading interesting novel
(c) Discussion

(d) Social interaction

71.

72

73.

74.

O A

3
Freferfaa i & P-4 AT TRwv 1 T
TR & ?

(a) UIfEeh TEOT
(b) SAEITHY T
(c) SEATTHY FENuT
(d) TEES qENOT

arfrRaa o & s -a1 forehred Infedes vamg
FISAA A S ?

(a) TIHER @l A YT AT FHa A
femm

(b) SHER @l A ST I WSS S
EIEIEIRED]

(c) Wi ol &I AT 3R T o FoTq, s1<=n
q & o

(d) <k I GEI o MTae o forg o= feran

TTa- T g T30 Hafed &

(a) AT

(b) wfxafe &

(c) YU-dawid

(d) STMisesh FTER &
fFrefafea # @ -8 T TN
a7 -
(a) HT&TIChR

(b) TRRSTR U= TG

(c) Ham=

(d) AT S ,
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) x
75. In acode, if

41-32=-55
42-34=76
53-13=48.

then 33-22 js

(@ 11 (b) 44

(c) 46 (d) 64

76. While introducing a manto her husband,
a woman said his brother's father is the
only son of my grandfather. How is the
woman related to this man ?

(a) Aunt (b) Sister
(c) Mother (d) Daughter

77. lf4x6=1812, S x 8 = 2415,
6x9=2718,then 7 x 6 =

(@) 1821 (b) 2428
(c) 3035 (d) 3642

78. In the following table, missing number
X is

28

25 | 3

20 24 32 36

(@) 24 (b) 28
(c) 30 (d) 32

GCTWY-02

75. et e d, afy

76.

77.

78.

41-32=55
42-34=76
53-13=48.

@ 33-22
(@) 11 (b) 44
(c) 46 (d) 64

T o9 1 3 I & e 0 gu, o
wft 3 e % 3wk g F R W 2w >
A G R | 75 Tf e o 3 qew
e R ?

@ T () =
(c) = (d) i
!rf%:4x6=1812,5x8=2415,

6x9=2718, M7 x 6=
(a) 1821 (b) 2428

(c) 3035 (d) 3642

FreferRea arforest & @ dem x 2

28
26 |- 31

20 24 32 36

(a) 24 (b) 28
(c) 30 © o (d) 32
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79. In a certain code, TABLE is written as | 79, If e R we § TABLE ®I

UCEPJ, then which of the following UCEPJ for@r st &, @ CHAIR %t

code would be written for CHAIR ? Ferferfad & & o v # foran
S ?

(a) DKMNT
(a) DKMNT

e o (b) DJDMW

(o) REET 5 (c) KDFAT

(d) KCGOD (d) KCGOD

80. Eightfriends meetata party. Eachone | 80. T3 s v Tl & Prem € | ooft wed O
shakes hand with each of the other R Ty fiem € | genfee Ty e i

once. The number of possible hand T R
shakes is

(a) 64
(a) 64
(b) 56 (b) 56
(©) 28 (c) 28
(d) 20 (d) 20

81. ‘Some languages are difficult to learn. | 81. TS T} HiEs T hied Bid! & | T5hd Th
Sanskrit is a language. Therefore, W%|WT@W#\'@%‘ TRl sl
Sanskrit is difficult to learn.” This
: fife aham e
involves the fallacy of

(a) Undistributed middle term (a) eI HEAH TS

(b) Composition (b) ®TE
(c) Division ; (c) fenre
(d) None of the above (d) ST H & 1§ TEl
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83.

84.

85.

In a certain code, PAN is written as 31
and PAR is written as 35, then in this
code, PAT is written as

(@ 30

(b) 37

(c) 38

(d) 39

In the process of communication, the
last step is

(a) Encoding
(b) Message
(c) Decoding
(d) Feedback

Communication that used to assign
goalsto sub-ordinatesin an organisation,

is called

(@) Upward communication
(b) Downward communication
(c) Informal communication

(d) Lateral communication

Which of the following is not a
communication barrier in a workplace ?

(a) Noise

(b) Prejudice

(c) Active listening

(d) Improper medium

17-

82.

83.

84.

85.

GCTWY-02

T (e e & PAN =) 31 forea € oir
PAR@SS%@%%,%WQEMAT%@
fora sty 7

(a) 30
(b) 37
(c) 38
(d) 39

HEINOT % b F S T 2
(a) HFe

(b) T

(OBECETE

(d) whigfe

ﬁmﬁ’@aﬁ@ﬂq-mmmﬂﬁ
Htﬁwaﬁ@wﬂ%?

(a) IR

(b) ofrE

(c) wfshT Zraur
(d) 3FFwgeR Arem
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86. Which number should be in the place | 86. ﬁmﬁﬁaﬁwﬁg%wmqﬁq; ;

of the question mark in the following ? ot T et ?
?

(a) 5876 : (a) 5876

(b) 5866 (b) 5866
(c) 5776 ) (c) 5776
(d) 5766 (d) 5766

87. Which order of the following words is 87. ﬁmﬁiﬁaﬂmﬁcﬁmﬂq—mwaﬁ%?

correct ?
(a) g™, el l, L CAGIH

(a) Digestion, mastication, cooking "
(b) Mastication, cooking, digestion (b) . .

(c) Cooking, digestion, mastication (c) TTERINTT, T, SIS

(d) Cooking, mastication, digestion (d) USRI, TSI, T=HT

88. ‘A plant s a vegetable organism’ is an g8, ‘e T SR SHEE ¥ g ISR &
example of ;
(a) ITeTRTICER TICATST <61
(b) TEITCHeR TR 1
(c) TrEigaTel qRTe <At

(a) Figurative definition
(b) Negative definition

(c) Synonymous definition

(d) Accidental definition (d) SATSRTEHeh TRATST T
89. If'+ means x’, '~ means '+, ‘x'means | 89. af s = T Y, o T

‘' and ' means “+, then4 +8—-2x R R i D R

2+4="7

| 4:8-2x2+4="7

(a) 4 (a) 4

(b) O (b) O

(c) 8 (c) 8

@ 6 @ 6
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90. Check the following three statements -

91.

g2

1. Kamla is not Ravi's wife.
2. Premlata is Ravi’s mother.

3. Sita is the only daughter-in-law of
Premlata.

What conclusion can be drawn from
the above mentioned statements ?

(a) Kémla is sister of Sita.
(b) Premlata is mother of Kamla.
(c) Sita is Ravi’s wife.

(d) Kamla is daughter-in-law of
Premlata.

Which of the following conclusions can
be validly drawn from the given set of
premises ?

1. No hero is coward.

2. Some soldiers are cowards.
Conclusions :

(@) No soldier is coward.
(b) All soldiers are heroes.
(¢) ‘Some soldiers are not heroes.

(d) Some soldiers are heroes.

‘Division of Indians info rich, poor,
intelligent and dull’ is an instance of

(@) Cross division
(b) Physical division
() Metaphysical division

(d) Logical division }

GCTWY-02

90. ﬁmﬁr@amﬁﬁaﬁeﬁmz

91.

92.

1. uer U aeht 78 2

2. Ywerar U i ui g

3. T SreTa Sl weharE gy 3
SRFT BT A B W e e s
TR ?

(a) AT Hiar 3 75T B

(b) ST HeT Y AT R

(c) ©rarTfa it yeft )

(d) AT ST A Py 3|

SERETH o 33 ) o & FerferRag
% a1 fierd Ju w9 3 e 7

1. %0 oft SR HRR T8 B 2

2. 3 foure R B 8

et

(2) IS Toe e 7 e

(b) @efi foret smIgT AR |

() Fo Rl s i g ¥ |

(d) Fo Rt wergran € |

IR T a7, Wi, giegwm qun

- Agfen ¥ faur’ v serwr e

(a) fafdm favem =
(b) siifcieh fersirsr =1
(c) MeTTeRen Rrsyror a1
(d) b e =1
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93.

94.

95.

Which one of the following figures is
different from the rest ?

o )
©
A

(b)

(€)

@ [

Consider the following arguments :

A. All poets are idlers.

B. No poets are idlers.

Which of the following conclusion can
logically be drawn ?

(a) Acanbe true and B can be false
(b) A can be false and B can be true

(c) Both statements A and B can be
false

(d) Both statements A and B can be
true

Which one of the following pairs has the
same connection as in between GJ and
Qu~?

(a) BC and WZ
(b) ABand ST

(c) AD and SW
(d) DHand VY
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93.

94.

95.

HWWWMMMM@ 

freffias sTgRa AR Aw A R ?

10
.©
o A

]

o il o ferem RN :

A, Tt Y A B S |

B. I HY e T8 Bl 8l
refafiaa 3 S -1 Fshd qend: et
M EHAT R ? :

(d)

(a) AT T B T T Hehell ©
(b) A 3TE AT B He T TRl §
() A 3R B 2RI o Tae B Fehd ©
(d) Aﬁkaaﬁamwmwaam%%

ﬁm%%mgﬁﬁﬁmﬁaéawv%=ﬁ
GJRQUEEHE?

(a) BCIMMWZ
(b) AB3TST
(c) AD IR SW
(d) DH 3R VY
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96.

97.

98.

99.

100.

O OO

Which number will come next in the
following series ?

5, 16,:51; 158, .7
(@) 1454
(c) 1452

(b) 483
(d) 481

Which one of the following is different
from the others ?

DFH, KMO, RTV, TWZ
(a) KMO (b) RTV
(c) TWZ (d) DFH

If the 4" day of a month is Saturday,
which day will be the 5 day before 26t

of this month ?
(a) Monday (b) Tuesday

(c) Friday (d) Sunday

Complete the sequence with the correct
option from the following codes :

oW
(@ F, S, T (b F; S, S
(¢ S,F, T (dy T,F S

Two Americans are going. One is father
of the son of the other. What is the
relationship between the two ?

(@) Father-Son

(b) Mother - Son

(¢) Mother - Daughter

(d) Husband - Wife

96.

97.

98.

99,

100.

et v ———— 1 4 )
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eliferfen e § srreht wen i @
3frrft ?

5,16,51,158, ?

(a) 1454 (b) 483

(c) 1452 (d) 481

e § & Se-ar v s A Ry 2 7
DFH, KMO, RTV, TWZ

(a) KMO (b) RTV

(c) TWZ (d) DFH
wﬁﬁmmwaﬁmﬁqwﬁaﬂ%ﬁrm
T %26 9 o7 & 5 R vee S Ry
BT ?

(a) GHER (b) HIEER

(c) YR (d) TR
AR Fe Toell § § T e 310
M, T, W, T, , ,

(@) F,S,T (b) F,S,S

(¢ S,FT (d T.F S

3 TR ST R ¥ | O w2 fr
| 3 31 8 o Ty R 7 :

(a) forr-g=

(b) -

(c) wT-Tft

(d) ufe-ueht
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SPACE FOR ROUGH WORK

T T & forg wum
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO. L

CODE : GETWY —02 2018
SUB : ( SERES |

GENERAL STUDIES - I A

Time : 2 Hours | Max. Marks : 200

Write your Roll Number In numbers
_—

in the box In words

To mark Answer use Black Ball-point Pen only.
Candidate must read all the instructions before writing the answers.

You are to mark your answer on Answer-Sheet only. After the examination is over, handover the original
Answer-Sheet to the Invigilator.

IMPORTANT INSTRUCTIONS

1. Answer all questions. All questions c'arry equal marks.

2 The Candidate should indicate the correct Roll Number, Subject, Paper Code and its Series on the Answer-Sheet,
otherwise the Answer-Sheet will not be evaluated and the candidate will be solely responsible for it.

" This Test Booklet contains 100 questions. Each question has four (4) options which are given below the
questions. Only one option is correct out of four. You are required to darken the circle corresponding to the
alternative which you consider to be the correct or most appropriate answer in the Answer-Sheet by Black

Ball-point Pen. -

. Do not write anything on the cover page of the Test Booklet except Roll Number. Use the space for rough
work given in the last two pages of Test Booklet.

. I you happen to find that the Booklet issued to you does not have all the pages properly printed or it has
any other deficiency, then you need to approach the Invigilator to get another Booklet of same Series and

Code.

. Penalty for wrong answers : :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE ANSWER

SHEET. :
(i) There are four alternatives for the answer to every question. For each question for which a wrong answer
has been given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the
given answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
guestion.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO.
g & ¢ STgT o ferelt TR 36 GIEeRT % TorH I3 W Ol § |
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